ERP CALCULATION WORKSHEET

Transmitter Output Power Watts
Antenna Gain dB over half wave dipole
Dype of feed line
Length of feed hine Feet
stem Gains Spstem Losses
Transmitter Qutput Power dBW* Length of Feedline
Add the Antenna Gain + dBd DEVIDE by 100 —i0Q
EOQUALS System Gain = 4R EQUALSY =
MULTIPLY this figure
by the cable lose factor
From table IT
EBOUALS cable loss
ADD duplexer loss
EQUALS total system losses -
System gains minus System losses= EQUALS ERP in dBW
Using table I convert to ANTENWNA ERP WATTS ERP
TABLE | Watts/dBW Table
Watts=dBW Watts=dBW Watts=dBW Watts=dBW
1=0.0 15=11.8 100=20.0 800=29.0
2=3.0 20=13.0 150=21.0 900=29.5
3=4.8 25=14.0 200=23.0 1000=30.0
4=6.0 30=14.0 250=24.0 1500=31.0
5=7.0 40=16.0 300=24.0 2000=33.0
6=7.8 50=17.0 350=25.4 2500=34.0
7=8.5 60=17.0 400=26.0 3000=34.0
8=9.0 70=18.5 500=27.0 4000=36.0
9=9.5 80=19.0 600=27.0 5000=37.0
10=10.0 90=19.5 700=28.5 6000=37.8
TABLE Il 50 Ohm Coaxial Cable Loss Factor
FreqBand RG-58233 RG-8213 RG-9214 1/2"foam 7/8" foam
29 (MHz) 2.8 1.0 1.0 0.4 0.26
52 (MHz) 3.8 1.3 1.4 0.55 0.36
144 (MHz) 7.0 2.6 2.6 1.0 0.66
220 (MHz) 9.0 3.4 3.4 1.3 0.85
440 (MHz) 13.0 5.3 5.1 1.9 1.3
1240(MHz) 19.0 10.3 10.3 4.2 3.2



